omRronN

wZE/ZV/ZN2
XE/XV/XV2
ARHARA vF
| AT |

B ERIREE

(DRI DN BB BN THAN T E Gl ) % JiE0
LT IEE 0,
K, SEEROMEIC & > T —IEHI LD, SRR, i
BAR, B, FHEOBNAH D ET,

RICDNT

Q) FRLOFHETIIMA L AN TS0

A4 v FORMEICH HHD DTRUHO > — A E R
123 O 2T ZIEL <AL THy MEAEDDIF TS,

@EERT hILY

NLOYBMIFIIEOFIR &7 0 FTOT, HBOMER
FIVZTTHEF T 230

BEfT AR
@7 — LADRIBEE

O LAy h2DZHT, O

frigicty hTEXY,

F v FEDDHT, O—F - T—LEEHOT 5% v b 360°

HEEOf#ICE Y FTEET,

@ O—F -« 7=LBOHARAS v FE O—F - 7—LZE{LR
DREfETE Y M2 LI ROERDIZE> TN A0, B
FACHRD 7235 U TIRBIO 2 AL 21T TS,

— L% 225° HEED

@

O L BT ot an. .
FLOHRE B BT EEB DAES TEOET, S EEATELSRNOL SN e oreT RN e
COMRERRIEL HHLTORE I, BiELI e g K R
ORI BHEAC D, A TR T An—ixftat 1.18~137N -m Mant
W, .
KA kb, WOBERUCBUTTHA £, .ﬂ’;ﬁléﬁ'_o“_{ Uity b | 490~588N -m M8F
AAERHL 137N~ ;
(B, ) 1.18~137N-m M4l
. AL 588N - ABTUE
BEEARE B2 Z(XE) (B 490~588N -m M5 RERfFARIL
¢/§;§3¥98§ 0 180~20Nm | G172 (ERORTZ L MBI ZMELTHD X,
R 06858931 1 254201
ALOV#*NE4E
T CERICEBLTOIHRERIE
—
t % J: o) g :ﬁ\ _ éﬁiﬁnu(é —ﬁ’ilﬁinnﬂ(f A&EL BEENTVET, #VEL
EEIAT (200 V) @iz OLT ALy L<h. saitnsumasnoos
B G S EREMELTH iyl
< FUREAT SUR, PRI 0.75 mn* O —7 )L ZHIi L. M4 ;,xuswgm ‘(ﬁ;3Tﬁéﬁ®EELk%unﬁﬁ‘gGAﬂﬂﬁg‘l@Agn‘b

YT — AL T T,
IEEOBNNDH D FT,

SEEHOZA » FHTE GERE) 1SN T S0,
BEOBNNDH D ET,

<R ANARET/HRL 720, WERICAES 720 LsWT<7Za 0,
IEEOBNANDH D ET,

ARFEMAT A, BIKMAT Z72 EQFRTH T L BN TS0,

<AL, R T TIMM< 230,

« Ay FOFFMIFAPASIHC L O RE < F2D F9, Michio
TIY, FMASAIC TRIERHERZ TV, TERE BRI WP
FEIC TTHA < IEE 0,

- i TN OBEANIHS LI TS 0,

SH TSR0, NERESRLIENT S0,

2-¢43MFIR
KErEMasy7

141.3%£0.15

BEH BRI FZ XV 2)

2— ¢S54 BfHIN
FEEM5 S V7N

75+0.1

DA AT 2L TERRRE T > TSN,

@1 Ty FODWEIZDNT

~j‘/'“/ hA LG TRCHA XD F 2L T
<% o BAKECOAR Y EERTHE, TR —
)I/f&/)fﬂﬁﬁ*hiﬂ'/u # BZE-Q—-2®0a>Py hHA

Z3G1 72T flOFRIZDWTIEA S OJ i35

HHEESRLTN.)

IR0 8 Ot BV 2 VSHEER BV D TR T< 7230,
BRI BV TR SN E S & —AGROIRA & 720 £9°,

AT — 7N OHE EATDIMEIX 655 ~ 0 14 TT,
=7 IE LIRS Oy BSCaxs sy —
K+ D AL T ZS 0,

HiBAERE
(a).—.L‘i%&?fﬁzEtéhéﬁi& @l ﬁ?hﬁ}ﬁﬂ&(ﬁ
Bl ERE. FERRE. BERE.
5 f‘ﬂﬁﬂ‘&lﬁ)éﬁﬁ)

5 i
Ay ” DB B )

OB CNERAL SRR ORE B BN aRT oaR anRts
Bl BERGETHILR B SREL) SRS

(d) hoOs%l D7 NRHEPEFETORSE

*(a)ﬂ\b(d)rwﬂliéﬂﬂ\éﬁm Kﬂﬁﬂﬁfnﬁl!ﬂ)ﬁunriéﬁli( i
AL, UTAL) AITEBY EtA. BREICEBT2MECEHAL
BOTES, Eiﬂi?iﬁﬁﬁnnk?“’(@éﬁ&#?aé%(kkﬁpﬁxﬁ_
0,

* ERRBATROEDHTT, YHON MBANS0S F—8s—
HRAEONE 0T, X2 2T IVIZREORE- R FHONEE L <HA

TIEMLET W,

FLOARREH] (2L UTNA— b A2 2 ETRRN -
OLRICHT BHMIADES

i 0120-919-066

;{S-\Pﬁﬁ’;t"ﬂdl’ﬂﬁw FHADT, TROBEEFFAENICEZL,

% 055-982-5015 amsinnnyxd)

W R ~21:00 ME¥H : 3658

OFAXPWeb R~ S THBMNADE VLT ET,

FAx 055-982-5051 / www.fa.omron.co.jp

OTOfDBMNAEDY

- ffifE - BTV - EHREEELOSREIE, EAEEHEY
FAOVRFEAICSHHS LS
AD S HERIBRAE DA AD S RAREIL, WebN—STIRA
LTWET,

OmRON

viodel ZE/ZN /ZV 2
XE/XV/XV2

General-purpose Enclosed switch

‘ Instruction Sheet ‘

Thank you for purchasing this product.

Please read all instructions before use to ensure
proper use and understand how to use this
product correctly.

Keep this instruction sheet for future reference.

‘ Precautions for Correct Use

H Environment

(1)Make sure to confirm influence of the environment
upon the switch when using the ambient condition
of oil and chemicals. Certain kinds of oil and
chemicals may bring sealing degradation, which
may cause contact failure, faulty insulation,
electric leakage or burnout.

(2)Do not use the switch under any of the conditions
mentioned below.
- Frequent temperature changes.
+ High humidity or where dew condensation may
be generated.
+ Where the switch is exposed to severe vibration.

HMounting
@Switch mounting

Side mounting model (Model Z(X) E)

Two,4.3dia.
mounting holes or

To maintain the seal at the mounting screw section
on the de of switch, insert O-ring correctly and
secure it with the lock nut.

@ Appropriate tightening torque

A loose screw may result in malfunction. Be sure
to tighten each screw to the proper tightening
torque.

Terminal screw 0.78 to L.LI8N-m | M4 screw

Cover mounting screw 1.18 to 1.37N-m | M4 screw

Roller arm mounting nut | 4.90 to 5.88N-m | M8 nut

Switch mounting screw
(Side mounting or Base | 1.18 to 1.37N-m | M4 screw
mounting

Switch mounting screw
(Diagonal side mounting)

M5

49010 5.88N*m | \jen head bolt

B Arm position change

@The roller arm can be set freely within a range of
225° by loosing the nut.

@The roller arm mounting bracket can be set in any
direction by loosing the nut.

@The nut is tightened loosely for changing the roller
arm lever position. Tighten the nut before
permanent installation to prevent loosening nut.

A wrench is available to adjust the operating position

Precautions for Safe Use

M4 screw holes Connector 1.80 to 220N+m |G1 2 of the switch, separately.
/ Model
SUPANA R
06858931 J e
OMRON Corporation T
Dispose in accordance with applicable regulations.
W Wiring ga
—

Be sure to connect the ground terminal through an
appropriate wire. If not, there is the possibility that
electrical shock occurs.

Do not touch the switch terminals while the s
has carry current, otherwise there is the poss
that electrical shock occurs.

Do not disassemble the switch or touch inside of it
under supplying power, otherwise there is the
possibility that electrical shock occurs.

Do not use the switch in the place with explosive or
flammable gas.

Be sure to keep the load current less than the rated value.
The switch life expectancy varies with switching
conditions. Before using the switch, be sure to test the
switch under actual conditions.

Make sure that the number of switching operations is
within the permissible range.

Never wire to the wrong terminals.

Do not drop the switch and do not disassemble the switch.

Base mounting model (Model Z(X) V)
Two, 4.3 dia.
mounting holes or
M4 screw holes

14134015

Diagonal side mounting model (Model Z(X) V2)

Two, 54 dia.
mounting holes or
M5 screw holes

' ¢ 31£01

« Use cables having nominal sectional area of 0.75mm?
and M4 crimp terminals with insulation tube for
wiring.

M Connectors

«Use the connector with appropriate thread size for
conduitopening size.
When use the connector of incorrect size, sealing
cannot be secured adequately.
Ex. Conduit size for ZE-Q-2 is G1/2.
Please refer to Catalogue or Specification sheet for
individual part number about other part numbers.

« Tighten the connector with the appropriate torque
to prevent the deformation of the switch case.

« Finishing outer diameter of adequate cable is 5.5 to
14mm diameter.
Use an OMRON SC-series connector (sold separately)
that is suited to the cable.

Contact the following sales offices about product information.

North America

U.S.A. OMRON ELECTRONICS LLC.  Phone : 1-847 m mo
Fax : 1-847-843-7
Canada OMRON CANADA INC Phono : 1-116-286- 6165
Fax : 1-416-286-6648
Europe
Teadquarter OMRON EUROPE B.V. Phone : 31-23-56-81-300
Fax : 31- 23 56-81-388
Asia and Pacifi
AHMRE #MEOMRONBHEH Phone : 82-2-3218-5700
F B EBEE(PE)ERAR Phone : 8610 3030
& B EBRIEMNERAE Phone : 852-2375-3827
A B AEESER S HRAE Phone : 88| 71! 1
Autralls OMRON ELECTRONICS Phone : 61-2-9878-6377
PTY.L
Singapore  OMRON "ASIA PACIFIC Phone : 65-6547-6789

PTE.LTD.

Suitability for Use

Omron Companies shall not be responsible for conformity with any
standards, codes or regulations which apply to the combination of the
Product in the Buyer’s application or use of the Product. At Buyer’s
request, Omron will provide applicable third party certification documents
identifying ratings and limitations of use which apply to the Product.
This information by itself is not sufficient for a complete determination
of the suitability of the Product in combination with the end product,
machine, system, or other application or use. Buyer shall be solely
responsible for determining appropriateness of the particular Product
with respect to Buyer’s application, product or system. Buyer shall take
application responsibility in a
NEVER USE THE

PROF Y R
WITHIN THE OV
For UK

OMRON Electronics Lt

Opal Drive, Fox Mﬂno \mmn Keynes MK15 0DG, U.K.

I‘JQ\ ‘IP\/H NI ()R SYSTEM.




N 9T TS RFEIT RO T L IRET M, SFIERREA 0 L WREFE
omRon ‘ FERAEFEEMR Jr SR OEEBNUBLE

we ZE/ZN /ZN 2 WATERATS
W K TS RETREER IR, T B
XE/XV/XV2 ) ?}:ﬁz}i \(ﬂ rﬁ(}h] WAl I, S8 S WA = 5 O EfEEHE

HH SRR FERERS B 225 AR
g JHI S EAE 360 HOE

RRERAE K 2RI G S, TR SEIE, T HRER S B A
HAFRX i SHRR. W, fei. ST A A TRTR
TS GECRINON, T ) LE B R LA 2
‘ {EHAIASR ‘ RERI (AT e Lie 3

MJM

SRR 1T "
i . _mm, Y FrEIHTIRL 0.78~1.18N +m M4 25T
) AT, TR S S5 B A T 0053
Feor WRERE 2] 1.18~1.37N+m M4 25T
MEABRET AL, DEs%. o;ﬁﬂsﬁsm***

FRERIRE 4.90~5.88N *m (1223

DTEZAER (20 E)

FrTHIRE ~ .
;—@;ﬁ??ﬁﬂ ) 1.18~1.37N*m M4 25T
M4 27
/ ’Eﬁ%ﬁﬂ 2. | 450~s.88Nem N5 AR
bt 1.80~2.20N *m 61:2 )
25,4201 A TR B B F
a3 =
SUPANA FOR ZE
06858931 1
FXIB B IR A A
WEL R EEEEE R
z & E A oxFy i
JEBZHEM (2(X)V) A BREATR 0. 7 S HHI , SRS A5 B 0 M4 P R AXF@IIFHEE O — BRI R0ER R Bit, TTAF
S ST TR UTHE NRAPEALTERATFUTRE, WARAF
AT S B0 L RIEEMRIE. BNRBFALDFAN>RAERS AL
- PET SARILBBAIRI, R
- R, DRI O T (S ). —* QAT EBOMAE (a) BEREMMAE (Bl ZAEEHIZE. MIBIEE. MEMKIRE.

7T RS

TR R TS & SRR (R T RERE NG REQE ETOE 22REMRR

T g ; fERER, REMASR)
TEAR 1 TC 2 W OR T2 4 W B Ef A (B 2E-Q-2 BB RST A jstuingwy P e it N
5 A PSR " 110 1 61720 MR BEZERASA BT, ) © BRASEGmE (0T Sk RARAAL W0

S BUETNREURLRES SRR, Mg )
T S5 o (0 EFSRESFETER (fl: BRRESMIBE, 2FLS
) e T IR G R Rt BREGE. SERRTROEE. STRP. AE0RES)
AU, 51 RS T MRLRAIELA, S5ETHER B (d) T F S8 v S LTS T
*(a) ~ (d) URAT B REFRENFRFABTAE (S
- U FERE Y S B S A RE (A - BRI TANER 655 ~ § 14 %, FR). BAENAERTER. XFTENAENS,
BT TAMEREERIE (50 SERIES - - - 5 WERFATHEARN
- TR A AEARARERE BRI MR e B AR SC0R #)o * RSB (R, it ik AT T
CAEFRSERIFEIF R, I BRI S BN T S o MR 2T (2(X)V2) LRGN H e BRSO A i H S AT R # /H
i IR P
- VIR TR TR 2-05.4 RE7L
EALE S
P BRSPS« -
WAL
, L3101 BB BEik (RE) HRAR

bt ELEHHAREEFHOMTIREER 789 S
FARB ML 1400-820-4535 (A—ZERE, HREMKS)
FI3E * http://www. fa. omron. com. cn

75£0.1




